Exam. Code: 0003
. Sub. Code: 0222
2012
B.A./B.Sc. (General) Third Semester
Geography
Paper- V: Geography of India
(In all mediums)

Time allowed: 3 Hours Max. Marks: 60

NOTE: Auntempt five questions in all, including Question No. I which is compulsory
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and selecting one questions from each Unit. Credit will be given 1o suitable Maps
and diagrams. Use of stencil is allowed.
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Atternpt any ten of the following in about 25-30 words each:-

a) Latitudinal and longitudinal extent of India.

b) Garo, Khasi and Jantia hills

c) Name the Indian states sharing boundary with Bangladesh.

d) Drought prone areas

e) Mangrove forest in India

f) North East monsoons

g) Copper producing arcas in India

h) Sardar Sarovar Dam

1) Two most urbanized states in India

1) Jute producing areas in India

k) Nilgiri hills

1) Non-Conventional power resources

m) Food security

n} Golden Quadrilateral

0) Two major ports of eastern coast (10%x2)
UNIT -1

Divide India into various physiographic regions. Explain Himalayan mountain

region in detail with the help of a map. (10)

What is natural vegetation? Discuss the classification and conservation of natural

vegetation in India. (10)
UNIT - 11

Which Geographical conditions are required for the rice cultivation? Discuss the

production and distribution of rice cultivating areas. (10)

Critically evaluate the salient characteristics and problems of Indian agriculture

with suitable examples. (10)
UNIT - 111

Discuss the factors controlling population density. Bring out the regional pattern of

density of population in India. (10)

What are various forms of Iron Ore? Discuss the production and distribution of

iron ore in India. (10€)
UNIT -1V
Discuss the problems and regional distribution pattern of sugar industry in India.
(10)
Write a critical essay on foreign trade of India. (1)
P

(Hindi and Punjabi versions enclosed)
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